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Direction : (1-5) The following table| What is the total number of PCs produced by
embodies details about the number of Personal Company A which remain unsold in all the six
Computer (PCs) produced and the percentage of PCs . 9
sold by two companies A and B from the year 2014 to ycars ngther'

2019. Based on the data in the table, answer the| A THUAT ZRT AAR @ UEAA Sheedl it W&

question. fFat [
fador (1-5) : F=ifesa arferest & 9t shufaai- A %Gﬁmaﬁﬁm-{gt@?
3T B gRT @ 2014 9§ 2019 & si=r i oiw faswa|  (a) 137400 (b) 144340
UHAE el @t Heean quiHt g ¥ At § wew | (¢) 152200 (d) 152200
Tehe o MU U Y99 o1 ST Q -
Year-wise Production and Sale of PCs \

Year (Number of PCs|Percentage (%)
a9 |produced by Company|of PCs sold by
(in Thousands) Company

HEAT (FIRH ) o (%)
A B A B

2014 40 45 60% | 50% )
2015 52 48 75% 40% : J & =
2016 60 64 50% | 75% Em
2017 70 62 80% | 60% | | online Study & =
2018 72 65 40% | 80%
2019 90 80 60% | 50%




Direction : (1-5) The following e What is the tota_ll numbe'r of PCs Produced l:fy
embodies details about the number of Personal Comp:nny tﬁ wa‘nch remain unsold in all the six
Computer (PCs) produced and the percentage of PCs ge er? ) ) )
sold by two companies A and B from the year 2014 to o’ ‘ R AW ﬁjﬁ‘ qHAE shegedl el HEE
2019. Based on the data in the table, answer the fera=T & =it g a9f O 319faeh 18 Ta?
question. , ) (a) 137400 —, (b) 144340

ader (1-5) : F=ifera arferest & S shufaai- A (c) 152200 (d) 152200
afiT B g7 @ 2014 & 2019 & sfer faftfa i faswa An
ANTeh & ATUN UL Y9F &l ST Q - wrEeE @ | g ——

Year-wise Prqduction and Sale of PCs qEar /-\
THAE el T aHar SeareA iR famnt 2014 40000, | 4000040 _
Year |Number of PCs|Percentage (%) 100 | —
a9 |produced by Company|of PCs sold by 2015 52000 ° 52000 x 25/ /

(in Thousands) Company 100 =13000

_ , i 2016 60000 60000 < 50
THAE  ewedl  iudad el @t ’ 100>< ~B0000
k) W)/ |gfeorE (%) 2017 70000 70000x20 _
A ) B _AN B . 100 -
2014 40 7 45 \60do | 50% 5018 53000 72000%60 ____
2015 52 ~ 48 | 5% | 40% 100
2016 60 < 64 50% | 75% SARES PSS ¢ 2000820 — 36000 ~
P4
2017 70 62 80% 60% O D8 adl H HAA1 A T 3AMEE HEgSL HI G&Am
2018 72 65 40% 80% = 16000 + 13000 + 30000+ 14000 + 43200 + 36000
= 152200

2019 2 - 80 60% 50% a1 faehed (o) e 21




Direction : (1-5) The following table
embodies details about the number of Personal
Computer (PCs) produced and the percentage of PCs
sold by two companies A and B from the year 2014 to
2019. Based on the data in the table, answer the
question.

T (1-5) : Fr=ifera arfererr ® @ hafrai- A
3T B gWT @9 2014 ¥ 2019 o &= fAftha o fasa
UHTE Shegedl et HEAT 9Tt T ¥\ arfereRt W e
3Tehe oh 3TTET U W9 T ST < :

Year-wise Production and Sale of PCs

THAE higedl ohl auar ST i fasnt

What is the ratio of the number of PCs sold by
Company B in 2018 to the number of PCs that
remained unsold by Company A in the year
2015?

A &t GRT @9 2015 § F &< I ok g€

S @ g1 § B Ut g 2018 W a9

Year ([Number of PCs|Percentage (%)
a@d |produced by Company|of PCs sold by
(in Thousands) Company

& (TR H ) wfaoTa (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% | 40%
2016 60 64 50% | 75%
2017 70 62 80% 60%
2018 72 65 40% | 80%
2019 90 80 60% | 50%

T THAT HEET T AT FT 87
(@) 5:2 (b) 4: 1
(¢) 5:3 (d) 4:3
L
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Direction : (1-5) The following table
embodies details about the number of Personal
Computer (PCs) produced and the percentage of PCs
sold by two companies A and B from the year 2014 to
2019. Based on the data in the table, answer the
question.

T (1-5) -
3T B grT @ 2014 & 2019 & &= fAfifa i fasa
THAA el @ HEAT Ut W {1 arferant W uaw
3fehe o AT UT W9 ot 30T @ :

Year-wise Production and Sale of PCs

THAE el T audar Saare 30 fasnt

—_—
What is atio of the number of PCs sold by )

foreifena arferaRt o ar Shufaai- A |

Compan in 2018 to the number of PCs that

remained unsold by Company A in the year
2015?

A ST gRT A 2015 H T < W1 Wah gHAA
S i g1 § B &huAt g 2018 W a9
T THAT S T ITTUTT T &7
(@) 5:2 (b) 4:1
(€) 5 :3 (d)4 3

Year |Number of PCs|Percentage (%)
@4 |produced by Company|of PCs sold by
(in Thousands) Company

HaAT g ﬁrﬁhaw:&gma%ﬂq

& mg)_ /uﬁmm(%)

2014 40 45

2015 |— (52 ) 48

2016 60 64

2017 70
2018 72

2019 920 80 60% 50%

Ans@ aﬁzmsﬂm:ﬁﬁméﬁnﬁqﬁ'—m

&

_65000x80 .00 2

RS 100
aﬁzmsﬁMAm@nﬁ)ﬁaw

2000483400

FTE 3 =52000 : 13000
=4: ]

3d: fawew (b) 79 21




Direction : (1-5) The following table
embodies details about the number of Personal
Computer (PCs) produced and the percentage of PCs
sold by two companies A and B from the year 2014 to
2019. Based on the data in the table, answer the

uestion.
! AT (1-5) : Fifera arferest ® S shafa=i- A
31T B T a9 2014 | 2019 & sh=r it 3w fawe
THAT el ahl WEAT IOl E g1 ATfereRt | gaw
3RS oh ATET U U9 ol ST S :

Year-wise Production and Sale of PCs

THAET Sheedl ohl audar Sdrea i fasnt

Year ([Number of PCs|Percentage (%)
a9 |produced by Company|of PCs sold by

(in Thousands) Company

wudt g fafda(ehut grr 9= e

udae  shwedl  aiudaer sheedl it

e (B9 9) W

A J& ¥V a B

2014 40 45P°| 60% | 50%
2015 52 48 —| 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 90 80 60% 50%

What is the difference between the total
number of PCs sold and the total number of
unsold PCs of Company B in all the six years

together?
we at % @ o |

3T afass gd=e
I it T T 3 )
(a) 68700 (b) 70500
(c) 72100 (d) 73800
g
—
Y
—
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Ans. (d) ;
Direction : (1-5) The following table | |y =+ | fa% u‘ﬁﬁ T ailﬂ'l%laiﬂ‘!:hﬁ
embodies details about the number of Personal e \;,;T'r o)
Computer (PCs) produced and the percentage of PCs P N \ 5&9 %
sold by two companies A and B from the year 2014 to W —Lf\
2019. Based on the data in the table, answer the e S -
question. ) ) . 2014 45000 [ 45000 x50/ 45000x 50 -
fador (1-5) : Fr=ifera arferest & S shufaai- A P 100 @) 100 @
3T B g o 2014 | 2019 & sfrer e ot =it | 5015[ 28000 | 48000 < 40 28000 = 60
wdaer hegedl @ e quitedht T {1 e § waw _ 00 2200 |— 5 — 22800
TS & AT UT Yo o1 ST 2016( 64000 [64000x75 _ , 64000x25 .
Year-wise Production and Sale of PCs /7 100 =S50 100 a
THAET Sheedl ohl audar Sdrea i fasnt
Year [Number of PCs|Percentage (%)| 2017 62000 2000 x 2 x 4
a9 |produced by Company|of PCs sold by / 62000x 60 =37200 62000x40 =24800
(in Thousands) Company e 100
i Sl sl | |
: : 65000 x 80 65000 x 20
THAST  HERU WHWEAE S _ =52000 =13000
HEAT (T W) W) — 100
A B/l A B 2019 80000
2014 40 457 | 60% | 50%Y ’ 800000 = 40000 80000x 50 = 40000
2015 52 48 4, | 75% | 40% 100 —— —
2016 60 64 7| 50% | 75% || [Total 718900 0
2017 70 62 7| 80% [ 60% f
TR 657 aov [ sove || [P 3 = 218900 - 145100 & 73800 )
2019 90 80 7 | 60% | 50% ) G4 2|

d: faaeq (d




The number of PCs sold by Company A in
embodies details about the number of Personal 2015 is what percentage of the number of PCs

Computer (PCs) produced and the percentage of PCs sold by Companv B in the year 2019?
sold by two companies A and B from the year 2014 to| A ThUHT §RT 2015 W &9 T U el

2019. Based on the data in the table, answer the & & B &u=ft | 201 9 H a_a_
question. F@l
frdor (1-5) : Frifera arferest & St Shafaai- A THT el ol feha=T wfervra 87

Direction : (1-5) The following table

31T B gRT @€ 2014 ¥ 2019 & &= fAfia 6w fame (a) 82.5% (b) 87.5%
UHAE sheedl il HiEET STt WS ) anfeteRt W wew (c) 90% (d) 97.5%
3TTehe o 3TMENY UT U9 ohf 3T < ¢

Year-wise Production and Sale of PCs \)\

THAE el ot auar IdreT T famnt

Year (Number of PCs|Percentage (%)
a9 |produced by Company|of PCs sold by
(in Thousands) Company

ot g fAfda(ehur g o= o
Udae el Si(adae shexedl @t

& (TR W) TfoTT (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 ¢ A 65 40% 80%
2019 90 80 60% 50%




Direction : (1-5) The following table
embodies details about the number of Personal
Computer (PCs) produced and the percentage of PCs
sold by two companies A and B from the year 2014 to
2019. Based on the data in the table, answer the

uestion.
et (1s) : Pretfea wivar ¥ @ dufwi- A
3T B gRT @6 2014 ¥ 2019 & sit=r fAfta 3w fase
UHAE ShEedl ohi WEAT SUTET TE ¥ ATfeTeRT H weEw
3TTehe o 3TMENY UT U9 ohf 3T < ¢

Year-wise Production and Sale of PCs

THAE el ot auar IdreT T famnt

The number of PCs sold by Company A in
2015 is what percentage of the number of PCs
sold by Company B in the year 2019?

A @Ot AT 2015 W o T UHAA el
& FA T B HUAT g 20191}3—.—}
e e @ R whavra &2

(a) 82.5% (b) 87.5%

(c) 90% \(H 97.5%

Ans. (d) : 3 2019 ﬁMBWﬁ@W@'{
~ 80000x 30

o = 40000
¥ 2015 ¥ S A 5 99 T FX

8% :520?(?OX75: 00
439000

P srmm

3: ﬁaﬁq Hﬂl%n B

x100=97.5%

Year (Number of PCs|Percentage (%)
a9 |produced by Company|of PCs sold by
(in Thousands) Company
ot gRr fafda(ehudr gRT o= e
Udae el Si(adae shexedl @t
dEr (g H)  [gfaerE (%)
A BV A B
2014 a0 45 % | 50%
2015 < 52 ) 48 { 75% 40%
2016 60 64 Yo 75%
2017 70 62 80% 60%
2018 , 72 65 40% %o
2019~ 90 L 80 60% 50°
— ——




Direction : (1-5) The following table
embodies details about the number of Personal
Computer (PCs) produced and the percentage of PCs
sold by two companies A and B from the year 2014 to
2019. Based on the data in the table, answer the
question.

fador (1-5) : Frifera arferest & S Shafaai- A
3T B gWT @9 2014 ¥ 2019 o sh=r ffta i faswea
qHAe hEedl it WEAT S9TET E ¥ arfeteRt W wew
3Tehe o MY UY U9 Rl 37 @ :

Year-wise Production and Sale of PCs

THAS hegedl ohT audar Saared A fasnt

The number of PCs sold by Company A in year
2017 is what percentage more than the number
of PCs unsold by Compa %%B in year 2016"

a9 2017 H A HuT gRT

I W& 99 2016 ftB?ﬁT—ﬁ@'{t:{éﬁGﬂ
Toh qHAA el o 9@ ° fawaan gfaee
aftres §72

(a) 250%> (b) 200%

(¢) 120% (d) 80%

Year |Number of PCs|Percentage (%)
@4 |produced by Company|of PCs sold by
(in Thousands) Company

ot g fafda(edat gro = g
gHae el i|[udae sheedl ot

HET (F9 H) gfeoTea (%)
A B A B
2014 40 45 60% 50%
2015 52 48 75% 40%
2016 60 64 50% 75%
2017 70 62 80% 60%
2018 72 65 40% 80%
2019 920 80 60% 50%

©
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Direction : (1-5) The follgwing table | The n_umber of PCs sold by Company A in year
embodies details about the number of Personal 2017 is what percentage more.tha“ the number
Computer (PCs) produced and the percentage of PCs | of PCs unsold by Compan%g in year 2016?

o e e e e e sy van | T 2017 % A e g %y wer e
= se on e 1 ¢ e swer . - .
g w @ a9 2016 W B &hudt gRT 7 o< T

question. . g
fador (1-5) : Frmifera wifear & & FufEi- A W T@AE wWedl it @@ § fawaar yfava
3T B g ad 2014 | 2019 & e ffdda ofw foeia | gifiry 32
uﬁ:aaaq_;aﬁ aﬁmmﬁ%lmﬁm )250‘V> (b) 200%
31'73@'%5 .; 0 0
F h ST WG9 bl IT S (©) 120% (d) 80%

Year-wise Production and Sale of PCs

THAS hegedl ohT audar Saared A fasnt

:_;ar Number of PCs|Percentage (%)|| [Ans.(a):3d% 2017 T e A SN o T4 e G\
produced by Company|of PCs sold by
(in Thousands) Company = HRAKIRE0 = 56000 /
ot g fafda(edat gro = g _ 100 —_—
wdaer  whwgedl  aifudeer dheged @t |98 2016 H FOE B g A dd T FHel
e (FF W) wfe (%) (ANO 68600 x 25
A VY B AV B T = =15000
2014 40 45 60% | 50%
2015 52 48 75% | 40% || |31fte sfawm afg = Lt L x100
2016 G4 | 50% — arao 2000
2017 %\) 62 [{80% | 60% =273%
2018 72 65 0% | 80% ~ 250% (*TT4T)
90

2019




Which level of teaching is also designated as
‘exploratory understanding’?/3Trma & forw

T I G-t araarer ot wer Jrer 87 6/
(a) Memory level/Sfd &t

(b) Understanding level/3/@@y &

) Reflective level/famefi-fa= &R \/

) Autonomous development level
@i faehd &

(
(d




Which level of teaching is also designated as

‘exploratory understanding’?/3fmTa
T I AW araate oft gt e g

(a) Memory level/Sfd &
b) Understanding level/3Fa@ TR

)
¢) Reflective level femf-fm V
d) Autonomous development leve
S pERCEI R

(
(
(

& fom

u?nﬁmwéamﬁwl{ﬂfﬁaaﬁﬁﬁ
feha T 2 |

@ T & V- 38 R & e & yam
T @ TN 9 3 G & e § 9 g
T § TR & W R A & a0
foaia 2t 21

fermoff T o fngror- feyt v v sfwan gt 2
o 3 fwm & sl fofay fgat &1 aneieee
feveln & @ 39 W e 3 @t avg foaf gt 2|
30 AR a1 W que & GE S & gl g

Travh ey f e ¢




Identify the characteristics of ‘Field-
independent learner’

-k ferTaehdl shl favreard € : /\

(A) Seeks guidance and demonstrations from
teacher o =t 3 granfites /
W9 Sl 37U AT

) Focuses on details of curriculum materials

ureT-amIft @t wawarst /_Mr-r%ﬁﬁ

AT B
\/C) Likes to compete/Sfaaaelf a==r udig &¥ar &1
(D) Relates copc;gts to personal ex%t;rience/
STAETIOTTSTT aJafveas

AT
@A gl
) Can organize information by himself or

herself IoIAT @l @I ogaitad o
WehdT/Thdl 8l

Choose the correct answer from the options
given below :

Hrer fau 7o faewreat § @ W WX @1 wEA

hifeu:

(a) (A), (B) and (C) only/&ad (A), (B) 3R (C)

(b) (A), (C) and (D) only/&ad (A), (C) 3R (D)
€) (B), (C) and (E) only /&da (B), (C) 3R (E)

(d) (C). (D) and (E) only/&ad (C). (D) 3 (E)




Identify the characteristics of °‘F ield-
independent learner’

&-Teh EATHeRAt it fagreand § -
(A) Seeks guidance and demonstrations from

teacher/fo18Ta o |t ﬁ'E'S'T ES1Eg
YaYia i 3TUHT T g

(B) Focuses on details of curriculum materials

qrST-AraIft @ gaHArsll U¥ LA chigd
AT B
(C) Likes to compete/Ufaeaeff =T wdg &t g
(D) Relates concepts to personal experience/

ATHa
@A B
(E) Can organize information by himself or
herself/ @a-T @l TWd oHaftad @&

Choose the correct answer from the options
given below :

Frer fou o faweat # ¥ WE SO @1 w9A
CAIELE

(a) (A), (B) and (C) only/&ad (A), (B) 3iR (C)
(b) (A), (C) and (D) only/&a (A), (C) 3R (D)
(¢) (B), (C) and (E) only /&a@ (B), (C) 3R (E)
(d) (C). (D) and (E) onlv/&a (C). (D) 3R (E)

Ans. (c):&hﬂ?ﬁ e &t o spenfofiEn ¢

() T3-St & GeaH W AN A e g

(i) Sl & e e 21

(i) o7 1 T i R W ¢

(iv) 7 3R frgidl ® eAm afsd & )
foaed (o) T 2|




Match List I with List I1 (B) Dialogic teaching|(Il) Case studies and||
it 19 | gt 11 @ faem i method/FaTal  TTETUT| tutorials/aa®  3reaa=| |
List 1= 1 List II/3= 11 fafer 3 argfTerT -.
(Teaﬁcm"g M%eﬁth('d)/ (Examples)/(SSTETM | [(C)  Action  based |(I1I) Team teaching and |||
2 Monologi @ Cobornct ; teaching method/ @& | demonstration/SeT '
onologic ybernetucs an 4
teaching method/ .computt?r-aided - 3N mm ferfer W 3'ﬁT W?h ]
TEhteash Rrgror farfr ::ﬂs_:"‘.'m““’"'sa[ fea (D) Self study based|(IV) Simulation and
ailn S s teaching method/ |role playing/3TT&uut
S AT - AR 3l yftr frdea
HEUA
% Choose the correct answer from the options
given below :

— ﬁﬁqwﬁmﬁﬁuﬁwwm

wf
(

(c)
(d)

(II), (B)-(III), (C)-(I), (D)-(IV)
(1), (B)- (H) C)-(IV), (D)-(I)
( D
~ I)

), (B) (IV) (C) (I1), (D)-(1l
1V), (B)-(I), (C)-(l1I), (D)-(1

A)
A)-
A)-
A)-




Match List I with List 11

(B) Dialogic teaching

method/datdt  forerur
farfer

(1) Case studies and||
tutorials/&E®  3RFTA| |

3T argforeuT

et 1o | gt 11 &1 fier= s
List 1= 1 List 11/G=i 11
(Teaching Method)/ (Examples)/(3<T&{00)
(Forarur fafe)
(A) Monologic (I) Cybernetics and
teaching method/ computer-aided
foreror fafer  |instruction

3T FHHET-TETH

SR

(C) Action based
teaching method/ D)

- 3rrerTfie fyreror ferfer

(IIT) Team teaching and |
demonstration/act i

forerur 3T wevia l

Ans!(b):}
(Fereror fafer) (3<TEAT)

(A) UHfegeh famegor fafy (I11) /Z freqor 3R
BERIE]

(B) Gardl fweqor fafy (11) =Af¥ 318999 3R
ST

(C) & -ammarfa freqor fafer g;/g)qmam{ﬁm

(D) @eEAE-39R AT (1) GEaAead 3R
FH-TEES 3T

31 faswes (b) T 2|

(D) Self study based
teaching method/

TSI - TR
LTI

(IV) Simulation and
role playing/3TT&uut
3ir ayfirenr g

Choose the correct answer from the options

given below :

Frer fou v foeedwt W ® wE I @ owEA

CALE L

(a) (AN, B)(I), (O-(1), D-1IV)  EErmE e
(b) (AW, (BHID, (C-AV), OX0) | ey
(¢) (A)-(I), (B)- (IV) (C)-(11), (D)-~(I1T) | online study £
(d) (A)-(IV), (B)-(I), (C)-(III), (D)-(1l) 8w &




Statement I : Engagement in the learning
process refers to the amount of time students

devote to learning in the classroom.
HAT | : RN YiRAT § Sorv=dr &l et hail ‘)\/
o arfarm u faemeff gro faf=nfsa g o 8 % (—

Statement Il : Formative assessment is formal I
whereas summative assessment is informal.

& 11: faatonaaes 3tTeherT 3iig=Tiies ger &
Safeh HehoTaTedeh TTeheT TATg=Tiah grar 8

In the light of the above statements, Choose the
correct answer from the options given below :

SUNTh AT & ATl °, e fau o fawmeat
U o g 3T T FUF Rifeu:

(a) Both Statement I and Statement II are true.
FHI9 (1) AR (1) T T 2|

(b) Both Statement I and Statement 11 are false.
FAF (1) 3R (11) T 39T 8

\‘/) Statement I 1s true but Statement 11 1s false.

FI9 (1) 9 2, AfeeT F99 (1) 379 2|

(d) Statement I is false but Statement 11 1s true.
H9 () 379F &, dfehd Ha= (1) T4 2|




Statement | Engagement in the learning
process refers to the amount of time students
devote to learning in the classroom.

HAT | : AT yfehar § Sev=ar ot o shall
o arferm ux feaameff grr fafaanfsa aaa # 8

Statement Il : Formative assessment is formal
whereas summative assessment is informal.

HAT [1: Pt seaT aeniis gar §
Hafeh HehoTdTcHeh 3TTehold 3TATT<Tieh gar gl

In the light of the above statements, Choose the
correct answer from the options given below :

IUITh HAT & ATl o, e feu o faemeat

o A Wl 3T &7 999 SHiTw:

(a) Both Statement I and Statement II are true.
FI49 (1) 3R (1) 1 I 2|

(b) Both Statement I and Statement Il are false.
H (1) 3R (11) 2T 379 8

(c) Statement I 1s true but Statement 11 1s false.
F9 (1) 9F &, A FI9 (1) 379F 2

(d) Statement I 1s false but Statement II 1s true.
F94 (I) 319 2, dfha S99 (1) 99 21

Ans, (c) ; AT Sl § Hera a1 Ged T H At
w fondf g fofrafsm o o @1 o fowiomems qon
AT FdeH @ ST 791 S G &
¥ A fE 1 wad 31 o F99 | 99 a0 F9 1]
9 2

—
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Assertion (A) : Teaching support system as

provided by ICT based gadgets is intended to
optimise learning and interest in learning

material. _
Afares (A) : oEHEt-amaia foe o
TATSUCST TETIA Wgrarar YUTTGT Rt 3TT9T
rfermy i orftnm wnmIft  wha & agfvet
Ly

Reasons (R) : Any meaningful support in
teaching has to be instrumental in augmenting
learning conditions and outcomes.

HEUT (R) : MeAUA Haeft g7 Areden-wgradr
T, s @ ARt s uRum &
Hau o Iuanft gt =nfgu

In the light of the above statements, Choose the
most appropriate answer from the options

given below :
Q>

T HOA & WA B, ot U T e
N U oW UG I A A Rl

Both (A) and (R) are correct and (R) is the
correct explanation of (A)/(A) 3R (R) el

W E, A (R), (A) 3 T e 2]

(b) Both (A) and( )are correct but (R) 15 NOT
the correct explanation of (A)/ (A) 3R (R)

o T8, o (R), (A) 3 6 e G 2
(c) (A)1s correct but (R) 1s not correct.
AT 2, dfd (R) T 2

(A)
(d) (A) 1 not correct but (R) 15 correct.
( )

Aﬂﬁaﬁf%ﬁﬁﬂ ue"lél




Assertion (A) : Teaching support system as
provided by ICT based gadgets is intended to
optimise learning and interest in learning

material. _
afirere  (A) : amEHdt-amemia fie o
TATSUCST TETIA Wgrarar YUTTGT Rt 3TT9T
arfirme 3 srfermn Tt o wier & gy
Ly

Reasons (R) : Any meaningful support in
teaching has to be instrumental in augmenting
learning conditions and outcomes.

HEUT (R) : MeAUA Haeft g7 Areden-wgradr
quelq, finme @t uiiftafaai oiw uvmat &
Hau o Iuanft gt =nfgu

In the light of the above statements, Choose the
most appropriate answer from the options

I HAA o G §, el U T et

U W WA IUTH I HN TG R

(a) Both (A) and (R) are correct and (R) is the
correct explanatlon of (A)/(A) 3R (R) i
T &, 3 (R), (A) H T A 2

(b) Both (A )and (R) are correct but (R) 1s NOT
the correct explanation of (A)./ (A) 3R (R)

2t T 8, Wl (R), (A) &1 T e T 2
(c) (A)1s correct but (R) 1s not correct.

(A) @ 8, afd (R) W& & 2
(d) (A) 1s not correct but (R) 1s correct.
(4)

A) T 7 2, @fd (R u'a’lé|

gwen\ty Ans. (a) : Ffyehg= ‘3z dt d-3menfia ZIQFEEBIUI g 3|”
g9 2 39 Yoo # fear war dF st gadi

Wﬁ ai'rﬁ afew)” off g 3 aur feen g ifene

! el ARAT HAT 2
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Data of research take the forms of words or
pictures with the researcher as the key

instrument in which of the following studies? \

frifera o & form eremra= o a:gm:n & 3o Q \/
T WA & ®U W yIeg vgar o o wu oo

Aarg?
V})}P;rticipant observation based Studies
(b) Ex Post Facto Studies/HAR 373 /\JY_Q/
(¢) Experimental Studies/STHI T 37e894 95 /
(d) Descriptive survey Studies \e
faravoTers qdequr 3reaa j%




Data of research take the forms of words or
pictures with the researcher as the Kkey
instrument in which of the following studies?

frifera @ & forw ersgas | e19dena o 39
e o ©0 o YTeg 3TAT = okl ®T oF

e L0
“ar g2
(a) Participant observation based Studies

e SequT Sty e
(b) Ex Post Facto Studies/&FHEAT 37TT9
(¢) Experimental Studies/STHifiTeh 37e734
(d) Descriptive survey Studies

/ gdequT 3744
Ans. (a) : SAmT S0 VEE § U &
3e0_ A W & 69 8 @ﬂ?ﬁmél
TR _STcE IR ST ) 93N R e
FEqA R IMAME T

d)
LW )




Identify the characteristic features of
‘Hypothetico-deductive research’ paradigm :

TREUAT- TR w7 U3 STJHE st g
fargraaren &t fafga st
(A) Researcher is detached from the study to

avoid  bias/qgIqrTd fora
FTEUAHAT TETTT W 3TEIh &l AT

(B) Researcher becomes immersed in the
research situation _present or past

FTHUHGRAl FATEUE uitfeerfa o faora
Bl T §- 9T 9% adWI @ & ST9aT 9 il
researcher seeks to establish

\}c) The
relatlonshlps and explains causes of
changes in measured social facts

Heer Tonfud T SmEdar §
3T wifua gt dgat o ufea uftad

(D) Actual settings are the direct_source of

data/ & g
Hid g 8l
(E),An attempt is made to set up universal
\/ context free generalizations.

e wgygTh A=t & wfaures
T TATE TRaT ST £

Choose the correct answer from the options
given below :

Hrer fau o fawcat @ ¥ O IW @ =EA
HITAT :

(a) (A), (B) and (C) only/&dd (A), (B) 3 (C)
(b) (B), (C) and (D) only/®aa (B), (C) 3R (D)

oY (A), (C) and (E) only/&ad (A), (C) 3R (E)
(d) (C), (D) and (E) only/&dad (C), (D) 3R (E)

o HIUTT ahl SHTEAT &HidT gl

Ve




Match List I with List 11

(B) Applied Research/

(IT) Amelioration of a

Hdgd ATHUH given situation/ W
v uRtfterfa § Guw e
C) Action of Research/|(II) Exploringf
R DR applicability of alread
V4 e?t[;blishedy rinciples/y
T verfud fagiar
YEATIAT ST ST-aHUT

et | o |y g 11 &1 faers srfa:
List I/4= 1 List II/3= 11
Research Types/ Goal of Research/
(A) Fundamental (I) Appraising impact
Research of interventions/
S N & YN HT
3ATeheTd
v
/ Q}\ \$
My =

W —

vl

(D) Evaluative
Research/ HedTeh-

Rk L

(IV) Advancing the
corpus of knowledge in
a ﬁeld/@'«'- |

1Y & g

Choose the correct answer from the options

given below :

ot fou o fawewt & ¥ wEH I & WA

FHifT -

(a) (A)-(I), (B)-(1I), (C)-(III), (D)-(IV)

D) (A)-(IV), (B)-(I1T), (C)-(IT), (D)~(T)

(¢) (A)-(HI), (B)-(IV), (C)-(I), (D)-(1I)
(d) (A)-(D), (B)-(1), (C)-(IV), (D)~(11I)




Match List I with List 11

(B) Applied Research/

(IT) Amelioration of a

gdgd AJHUH given situation/ W
uftfearfd ¥ Gum @@
C) Action of Research/|(IIT) Exploring
RG] applicability of already

%tfablished griqciplaegr/
YT T 3TN

(D) Evaluative
Research/ HedTeh-
ek ATHUH

(IV) Advancing the
corpus of knowledge in

a field/&r=1-fave ¥ 7
1Y & g

et | o |y g 11 &1 faers srfa:
List 1/4= 1 List TI/Z=H 11
Research Types/ Goal of Research/
(A) Fundamental (I) Appraising impact
Research of interventions/
STELT & YN HT
3ATeheld
~— WY YR Y e
(A) Hifid AHYE (IV) &3-faem § 34
Y H GIG
(B) sAdgd 3T HY (Ill) qd ¥ifud fegidi
& ST B 3TAT0T
(C) forarereh rqde™ (IT) ye0 ufftafd & gur
AT
(D) Todic T 3EaH  |(I) ST & 39E &
3R

3a: fasmed (b) 99 21

Choose the correct answer from the options

given below :

ot fou o fawewt & ¥ wEH I & WA

FHifT -

(a) (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(b) (A)-(IV), (B)-(III), (C)-(11), (D)-(T)
(¢) (A)-(II), (B)-(IV), (C)-(1), (D)~(1I)
(d) (A)-(II), (B)-(T), (C)-(IV), (D)-(11T)

=]

v HlE
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Statement 1 : At every step of research
genuineness is to be vouched. Hence the issue of
research ethics becomes germane.

HYA |: TEUH & Yedeh o0 | arAfachal o
gt 8T a0 Wl et §) eEua gy °
viter-Hfervmmer T fawa Tgaenl &l AT

Statement II : ICT application in research is

supportive and facilitative rather than
mandatory and absolute.

FOT Il IFEUE T EHiEr
ST 3 g ¥, nﬁaa:ﬁanfaﬂ'r
e

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

SUTITh &Y o e |, e fau o faemeat
# | gAY I0GTh I I AT Rl

Both Statement | and Statement Il are correct.

(c) Statement I 15 correct but Statement II 1
incorrect /A% (1) el ? o 3 (11) Tefd :

(d) Statement I 1s incorrect but Statement II 1s
correct./HY (1) Tetd g, i FH (Il) % ;

F9 (1) AR (11) 1 G &
(b) Both Statement I and Statement II are
incorrect./sh9 (I) HR (IT) 2T T @

s )




Statement 1 : At every step of research (o) Gratement | is correct but Statement II is

genuineness is to be vouched. Hence the issue of

;;?’fh;g;féj;eg"ggggg;“g et 3 Incorrect,/&4 (I) e ? i FH (1I) Tefd ?

yfer forgr amg Tt sl &1 srewa swerat & (d) Statement |15 incorrect but Statement 11 1s
wIvr-<AeTrer a6t e wgerhHT & W ) correct/F4 (1) Terd §, e & (1) e 2

Statement II : ICT application in research is

supportive and facilitative rather than
mandatory and absolute. AIU//

- : %mwﬁwﬁm%m
IqEUE W IMEHIET  IrwEn
%wmngmw ﬁmmr@%ménmuamﬁsﬁum

P 1 fovg mewat @ o g1 angwﬁaxrhﬂaﬁ

In the light of the above statements, Choose the Wﬁ?’l’fﬁlﬁ a

most appropriate answer from the options 3ﬁ( W g " ﬁﬁ :ﬂﬁaﬁ 3]1(
;rg: I aﬁzﬁmlww Il 5 £

given below :

IR HUT ¥ e §, Her fw o fawedt

H | WEH IUGTh I T A I

(a) Both Statement I and Statement II are correct.
%4 (1) 3R (I1) 341 981 §

(b) Both Statement I and Statement II are
incorrect./s94 (1) HR (IT) 2T TAd @




Given below are two statements : One is \/KBoth (A) and (R) are correct and (R) is the

labelled as Assertion A and the other is labelled correct explanation of (A)./(A) FR (R) aHl
as Reason R. . & &, 3 (R), (A) F & == 2

et @ ﬁ'l'{ T K Th SR e (b) Both (A) and (R) are correct but (R) is NOT
(Assertion A) & w0 # fafga ¢ & CUAY EL:C) the correct explanation of (A)./(A) 3 (R)
W(ReasonR)%“{F\Uﬁ: aHT W g, ﬁﬁﬂ(R),(A)aﬁﬂ'&mqﬁl%l
Assertion (A) : Research Hypothesis (H,) (c) (A)1s CO{TGCt but (R) 1s not correct.

cannot be directly verified. (A) Wl 2, <fehd (R) TTerd 21

TR (A): I URehed-T (H,) UI&Id: (d) (A) 1s not correct but (R) 1s correct.

geaia el Sl ST ehdl (A) T& & 8, Afda (R) Tt 21

Reasons (R) : Null Hypothesis (Hy) is helpful in -
making a claim by the researcher that his/her S
findings are not fortuitous or by chance.

&R (R) : Tacta  ufteheudr (Ho)

FTHUHHAT & 3@ @ W WEgFeh ardt 8 o Y |

a‘qﬂwﬁuuﬁmmmmar&quﬁ%l NS

In the light of the above statements, ‘Choose the i d“y“ ,. )
~r

most appropriate answer from the options
given below :




Given below are two statements : One is
labelled as Assertion A and the other is labelled

as Reason R.

e I waw few U € ;. uw erfuee
(Assertion A) & ®U ¥ fafaa § @ gaT 30
hITUT (Reason R) & B H:

Assertion (A) : Research Hypothesis (H,)
cannot be directly verified.

IMTRAT (A): N URSGUAT (H,) Teaard:
AT &1 bl AT kel
Reasons (R) : Null Hypothesis (Hy) is helpful in

making a claim by the researcher that his/her
findings are not fortuitous or by chance.

&N (R) : fracta ufR&casr  (H)
FTEUSAT o 3@ @ U Tgad gt gl fen
mmmmmm:ﬁ.

In the light of the above statements, Choose the
most appropriate answer from the options
given below :

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A)./(A) 3R (R) i

& €, 3 (R), (A) F T& == 2
(b) Both (A) and (R) are correct but (R) lS NOT
the correct explanation of (A)./(A) 3 (R)
2l WEl &, df (R), (A) 3T T&T ARe T 2|
(c) (A) 1s correct but (R) 1s not correct.
(A) &l 8, @fdhd (R) T 21
(d) (A) 1s not correct but (R) is correct.

(A)u'a"rﬂ%’f%, afT (R) 98t 21

: e Ty ORee (H, ) Jre: St
aﬁmaﬁ%u”m%wmﬁﬁﬁmwﬁ
e OREea (Hy) SEaHa & 39 ad 1 9
A ¢, & 3% Yy oRom SR sa §Amaw 6
¢ o T ¢ T T ARG T8 e F ¢




Which type of Communication is most difficult
in gearing message to an audience?

ST ek fohd WahR o WY o1 HoI Halfeeh

foree 872

(a) Interpersonal Communication/3fddafthe HaR
\(6)(Mass Communication/sH R

(c) Intrapersonal Communication/3fd: d3fthd FaR

(d) Group Communication/qHg HER




Which type of Communication is most difficult
In gearing message to an audience’

AT 7% fo YR & HeW & Hom Wit
feem &

(a) Interpersonal Communication/ Sl Ham
(b) Mass Communication/s FeR

(¢) Intrapersonal Communication/3: daft%
(d) Group Communication/ &g

Ans. (b) : T7 TR FWEUT F 4T 76 GV & HaW
walfir fers 2 1 38 W fed e o ded
¢| 359 Aigs 41 fofiad Afed & Mad 8 AEE & ae
fedl § g wem fow o @GR} W o,
qureR i, e, difean, eifosm

4

Recelever

Sender ¢ .
Less feedback .

——

]\[ Mass communication/Public Comminicationgess

- - - \j b %‘I
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Given below are two statements :
et 2w feu T E:

Statement I : Audience noise is potent when the
message is controversnal

®UF | GoWl faaere @
mmﬁm%l
Statement II : It is impossible for any

communication to convert an audience from
one viewpoint to another.

e 11 gt et feram-f # ufted foedt oft
oW ¥ W g ¢l
In the light of the above statements, Choose the
correct answer from the options given below :

IUITh HAT o e W, el fou T fewet
T | e IUTH I H TIA AT

(a) Both State-ment [ and Statement II are true.
o9 (1) 3 (I1) 2 5 ¢
(b) Both Statement [ and Statement II are false.

R (11) A 39 &

\L)’? (I) 3 (I1)
¢y Statement [ 18 true but Statement 11 1s false.

9 (1) 574 2, o F9 (IT) 35 2
(d) Statement I 1s false but Statement II 1s true.
(1) 379 2, Afe T (1) T ¢

hgd
©

&\ Ng:j,\
=z




Given below are two statements :
et 2w feu T E:

Statement I : Audience noise is potent when the
message is controversial.

& | ; U foamerng @ @ gwanen @
HICTE Jarc gl Sirell gl
Statement II : It is impossible for any

communication to convert an audience from
one viewpoint to another.

®UA |1 ; o it frem-3f® o uftad= fenedt oft
oW W W g ¢

In the light of the above statements, Choose the
correct answer from the options given below :

IUITh HAT o e W, el fou T fewet
T | e IUTH I H TIA AT

(a) Both Statement I and Statement II are true.
F99 (1) 3R (11) 2 3 &

(b) Both Statement I and Statement II are false.
F9 (1) 3R (11) 2T 3794 &

(¢) Statement I 1s true but Statement II 1s false.
F99 (1) T &, Al F99 (1) 379A ¢

(d) Statement I 1s false but Statement II 1s true.
FI9 (1) 379 2, AT FI9 (1) T 2

G 7 21 9 3 | 9 00 3 [ 9 2

s, () : TN e 20 70 90 91 aieed S

a1 3 & 4 3 g e o o o




Physical barriers to communication are rapidly lp-)’\ \/
dlsappearmg, but psychological obstacles — /(
\/remam owing to which of the following?

C
mmmﬁs&ﬁﬁwﬁ!ﬁ% \/ d\/

fohg frifera ¥ ¥ dag wAAAT—S SFau=
o &2
(A) By formal language/3ia=imiies \TeT
(B) By visual presentation/39 U&dfa |

(C) By use of technology/Urenfitentar 3uam T o

(D) By emotional appeal/STaaTedeh 7dteT o

(E) By cultural attitude/Tghfaes fagfa &

Choose the correct answer from the options
given below :

Hrer feu wo faswreat @ O wd 39 @1 wEA
aﬁmz

G (A), (D) and (E) only/Fad (A), (D) 3R (E)
(b) (A), (B) and (C) only/&daa (A), (B) 31X (C)
(¢) (B), (C) and (D) only/&dae (B), (C) 3R (D)
(d) (C), (D) and (E) only/&aa (C), (D) 31X (E)




oo b parebmtegon ™ sboma[Ans. (LY s o 4 € e 8 8 €
r.emain.o_wing to which of the following? . % AT 48T, 49T 3T[ﬂﬁ, Wm m ﬁ
o el sifern amnd Soft @ frea @ R iy waee 99 8 deR d e aw o
P et & % ot A S |t o i R 4 9 3 R 8 o
(A) By formal language/3iTa=itfies wrar o FI?TST lﬁ_\ﬂﬁ T Hgr oM % ® F F él TdH

(B) By visual presentation/3 Wt ¥ i o 79 qUE 1 GUIYH W | wee 3 '§|
(C) By use of technology/SIenfiTertar IU=T o
(D) By emotional appeal/¥TaTedah 37dieT ® e

(E) By cultural attitude/Ai&hfaen fagfa o

Choose the correct answer from the options
given below :

Hrer feu 7w faeweat @ @ @E I @ @A

ifau:

(a) (A), (D) and (E) only/&dad (A), (D) 3R (E) 1
(b) (A), (B) and (C) only/&aa (A), (B) 3 (C) o el
(¢) (B), (C) and (D) only/&dd (B), (C) 3 (D) SR q

(d) (C), (D) and (E) only/&ad (C), (D) 3R (E)




Match List I with List I1.
=it 1<k |re @it 11 &t e s

List I//3=0T 1 List II/=T 11
Elements of Characteristic feature/
Communication/ | erda favraarnd
@A o 9
(A) Source/&ETa (I) Means used to convey

\

the message/He9T GUfaa
@ T4 Uk A@EA

(B) Receiver
UTach

(Il) Set of verbal and
nonverbal cues from a

source/&HId W drfaaeh
/i froaferes waa

Choose the correct answer from the options
given below :

Hrer feu o faereat # @ WE IWC @ WA
Eﬁ'ﬁl‘l{:
(a) (A)- (1), (B)- (1), (C)- (IV), (D)- (I1I)

(b) (A)- (1), (B)- (II), (C)- (I1I), (D)- (IV)
(¢) (A)- (1), (B)- (IV), (C)- (1), (D)- (II)

(C) Message

(III) A person who
interprets the message

F%Waﬁwaﬂﬁ
‘aTcT-lTE:rF?ﬁ

(D) Channel

IV) A person or an event
which provides verbal/
non verbal cues.

arfaes A-artaes
Hohd 29 91T SHieh

3TadAr T4t

@A)~ V), B)- D, (O-TDH, D)- 0

O\
-




If the selling price is doubled, the profit triples.

What would be the profit percentage? 179

T e et T 1 W T e g —
A T Wi 2 g7

(a) 25% (b) 50%

@ 100% D (d) 125%




. If the selling price is doubled, the profit triples,
What would be the profit percentage?

3. o W T 4 1 o g1
A giewa ¢
(a) 2%
) 100%

(0) 50%
(d) 125%

Aus. (¢): T 5% T x 741 oA A 3y 2
Aly-0)= -y

T oy=k
Hd: oY

=(y-x)
=(2x-x)
=X

L (y=20))

% =~x100=100%

X




Mohan buys a second hand television at a cost

of Rs. 7,500 and spends Rs. 500 on its repair.
Later on he sells it at a cost of Rs. 9,000. How

much profit he gets in this process?

wEA J 7,500/ ®OC W UH GUAT Seftters
giter 3 S|t W W 500/- U @e
ferm amg @, 39 9,000/- FUU U s femm @S
Y T Yerore feheaar &7

(a) 7.5% (b) 12.5%

(c) 20% (d) 25%




Mohan buys a second hand television at a cost

of Rs. 7,500 and spends Rs. 500 on its repair.
L.ater on he sells it at a cost of Rs. 9,000. How

much profit he gets in this process?

oEg" H 7,500/- HUAW W Uak GUAT Soltiast=
wier AT SESl ATwd u¥ 500/- wUU ==
ferm =g |, 3T 9,000/- UT H o=t fo=m STk

T Rt Qia9Ta fehaaT &2
(a) 7.5% — @-5%)

(c) 20% (d) 25%
Ans. (b) : ZcAfasH & 5 o4 = _J_O:SOO:RBOOO )
fasha 7eg = 29000
& = 9000 — 8000

% = NN xGOOilZS%
8000




The cost price of 10 items is same as the selling
price of N items, If the profit is 25%, then the| 72—
value of Nis? -/

W10 TGN & T T N TG &
foa-Tea & T W 25% A N

w e §? i @
ti) 8% (b) 16% =
(

) 20% (d) 25%




The cot price of 10 items i same asthe selling | [ams, ()

price of N items, If the profit is 25%, then the | |10.F 1 %4 & =IN  _
value of N is? N 9 3 974 7

o 10 T3 31 R 9 N A 0
- T & o 25 8 AN - oo 1oon

AIA R 1000= 125N

1000
1) 8% ) 16 v
) 20% 0) 5% N5




In a cricket mateh, in the first 20 overs run rate o)
was 4.5. What should be the run rate in the " i
remaining 30 overs to meet a target of 325? 3\/

R feredt fodhe 1 W yaw 20 3R @ W
Ared 4.5 2, 7 325 F 79T WA FH & o
919 30 3w § T @ T g A0

(a) 6.24 (b) 7.83
(c) 5.94 (d) 8.




In a cricket match, in the first 20 overs run raté
was 4.5, What should be the run rate in the
remaining 30 overs to meet a target of 3257

o ot forehe Bt W Wam 20 AW W
AT 45 7, T 305 & AT TG FA & o

0 30 o 7 @ o e
(a) 6.24 (b) 7.83
(c) 5.94 (d) 8.21

Ans, (b): 39 20 & H T € =450

79 20 FRE=4500€0 )
7 AEID

= 305- 90 ) S
aﬂ@ﬂsoaﬁmﬁmm%@




Statement I : An informal fallacy is one that
may be identified through mere inspection of
the form or structure of an argument.

HUT |; UGS TATH dg ¢ a9t 79
ek & WHU AT §=AT & e O o
werTfua fear =T Jehar B

Statement Il : Formal fallacy is one that can be
detected only through analysis of the content of
the argument.

FaA I sfueniie gEww @ & fawat
UgaH ach @ fawa-awg & favewur ue @ @t
AT THAT B

In the light of the above statements, Choose the
most appropriate answer from the options

given below : @

(a) Both Staiement | and Statement Il are

correct,/ & (1) m (ll)ﬂﬁf i

Both Statement [ and Statement I are

incorrect /A4 () A (1) 3 TR G A7

(c) Statement I 15 correct but Statement 11 1s
incorrect/A4H (1) Tl 3, i (I1) T 2l
(d) Statement 1 1 incorrect but Statement 11 1s
correct/&9 ([) Tetd %, 4§ (1) 5 3

§ c \j A =
- | Easy Notes 4u I :é
Online Study * -~
= H i




Which of the following statements about blogs
in network communication is True?

q2ad: HuW W, s & an W e § |

HH-T1 HAT T 87

(a) The content of a blog can be edited by
anyone /&M & I F & ff YT &
T 2

(b) A blog 1s a synchronous communication
system that allows people to chat in real-

time. /&M TF GHIG AR UM € S @
F T GG 31 AT e e g

ST A blog consists of posts in reverse

chronological \order./ﬁum % TR fouda
@E NN

(d) A blog 1s a history of web pages that you
have visited, maintained by an ISP. [SATT @

aaq@mﬁmém%ﬁﬁamﬁé@%ﬁx
foreran STeeT STEuad @ & 8|

@




Which of the following statements about blogs
in network communication is True?

Jeadh HOW W, =0T & an # freifead @ |

TF-UT HAT T 7

(a) The content of a blog can be edited by
anyone./sAM &I ANER & HiE off dufed
Hehell B |

(b) A blog 1s a synchronous communication
system that allows people to chat in real-

time./5ET U FHag TR JUmeh @ S @i
I T9H Garg & gfaen Se Hr 2|

(c) A blog consists of posts In  reverse
chronological ~ order./scTlT $ TR fould

A 1 8 8
(d) A blog 1s a history of web pages that you
have visited, maintained by an ISP. /s it

99 781 a1 3o @ ¢ 9 1 <@ ¢ 3
foee e ST § 2 2

\

vﬁ:(c):aﬁaa‘méammwmﬁzaﬁ,ﬂ
ae 2| foge daem Rl e star den g| e

S Fhl &1 98 U A A AR ST gl €1 g _—
;T T 9 2 ¢ i 3 e 4 6 3 v &
ANy = 3 Wz Pt are & A9 31 e T

i HaY el fer & 2|




. )

Identify the correct order of the followin

INTEL processors in the increasing order ogf % V'\}J\//
speed.

sorr 35 Pt gt o e et

U W Safterd it

(A) 80486

(B) 8085
(C) Dual Core/ST3T1 H

(D) Pentium-111/4feam- 111

Choose the correct answer from the options
given below :

Hror feu U fowew W W WE I @ wEA

a'f“%‘lll: {

(a) (A),(B),(C),(D)  (W(B).(A). (D). (C1>
(B

A B
() (A).(B).(D).(C) (d) (A).(C).(D).(B) _




Identify the correct order of the following
INTEL processors in the increasing order of

speed.
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(A) 80486

(B) 8085

(C) Dual Core/STNA I

(D) Pentium-111/4fEam- 111

Choose the correct answer from the options
given below :
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Statement I : Bus, Ring, Star, and Mesh are
types of network protocols.

FUF |: 99, f, @R 37 0yt A2adh yeike
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Statement Il : A short-range radio
communication standard that transmits data

over short distances upto approximately 30 feet
is known as Bluetooth.
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In the light of the above statements, Choose the
correct answer from the options given below :
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(a) Both Statement I and Statement I are
correct,/ FF (1) 3R (1) &1 T4 £

(b) Both Statement 1 and Statement I are
incorrect/H4 (1) 3R (I1) 3T 319 & |

(¢) Statement 1 15 correct but Statement II 1s
incorrect /&4 (1) ¥4 g, e 3 (11) 34T 2l

\4) Statement [ 15 incorrect but Statement I 1s
correct /A% (1) 3 2, aﬁqm(ll)mé|
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Statement I : Bus, Ring, Star, and Mesh are
types of network protocols.
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Statement Il : A short-range radio
communication standard that transmits data
over short distances upto approximately 30 feet
is known as Bluetooth.

FUA 11 : @ 30 fhe @ @t gft o ger
TR & aTel ifeia igal Ten @l ey
& WU FET A€

In the light of the above statements, Choose the
correct answer from the options given below :
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(a) Both Statement I and Statement I are
correct,/ FF (1) 3R (1) &1 T4 £

(b) Both Statement 1 and Statement II are
incorrect./®HI (I Sﬁ'{ (IT) M 3T |

(c) Statement I 15 correct but Statement II is
incorrect,/ &% (1) §ed 3, i a (I1) 78] 2l

(d) Statement I 15 incorrect but Statement I1 is
correct/FH (| W% @lﬁﬂ‘cﬁﬂ?{ ll)ﬂﬁf%l
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Which of the following group of statements in giv:::sﬁeltmi :cor rect answer from the options

the context of Information Technology (IT) is | = fau 7w fawent ¥ ¥ WE I @ w@d

correct? X 2 " .
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) Unix, Windows, and Linux are all
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\/ (C) Register, Cache Memory, and Hard Disk —

are all memory modules. RS, e A
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Match List I with List I1
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List I/G=i 1

List II/&= 11

(Computer Terms)

(Description)

(A) Processor/STHTR

(I) Part that runs
executable programs/
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garferd &t arel e
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(B) RAM/3H
——

(IT) Part that stores
files permanently/

FrEdl & Wt ®7 9
LR F ararn e

(C) Hard Disk
ge fe=
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(I1I) Part that stores
instructions and data

temporarily for use/
s AR se @
I & fau swerEd
®7 § ©WR FH g
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(D) Compiler/&HUrger

(IV) Part that
translates source
program to_executable

program/ I S &l

Choose the correct answer from the options

given below :
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(A)-(I), (B)-(111), (C)-(11), (D)-(IV) i

(b) (A)-(IV), (B)-(11I), (C)-(I1), (D)-(I)
(c) (A)-(ID), (B)-(1), (C)-(111), (D)-(IV)
(d) (A)-(I), (B)-(ID), (C)-(IV), (D)-(I1I)
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A coal fired thermal power plant has an
efficiency of 35%. The electricity from the
power plant is used entirely for lighting
purposes with average efficiency of 20%. What
is the overall efficiency of conversion form coal
to lighting?
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A coal fired thermal power plant has an
efficiency of 35%. The electricity from the
power plant is used entirely for lighting
purposes with average efficiency of 20%. What
is the overall efficiency of conversion form coal
to lighting?
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(a) 15% (b) 55%

() 70% (d) 7%
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Thanks For Watching
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